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00O  Program List

/%

Dirac-Fock (reletivistic Hartree-Fock) calculation of atomic systems
The Fock term is treated in the Slater approximation (in the manner of energy densiy functional)

For a single type of leptons.

2008/01/26: debugged version

2008/01/24: completed, renamed as difol.c

2008/01/18-23:created by utilizing atomla.c and hydrogen2.c, named as atom2a.c
2008/01/08,14,15 : created by modifying rmf3a.c and named atomla.c

*/

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

// Arrays to store the energies and wavefunctions of the eigenstates
#define ELECTRON O // idxt=0 for electrons
#define IDXT 1 // idxt (index t) = 0..IDXT=2->1

// idxt = ELECTRON (=0) : electron
#define IDXP 2 // idxp (index p) = 0..IDXP-1

// idxp = 0 : varpi=-1, L=J-1/2

// idxp = 1 : varpi= 1, L=J+1/2
#define IDXJ 7 // idxj(index j)=0..IDXJ-1

// 3 = idxj+1/2
#define NODE 7 // node=0..NODE-1

// node=0 for the gournd state
#define IDXR 10001 // idxr(index r)=0..IDXR-1
#define IDXRD (2+IDXR-1) // for half grid size

#define NSP 50 // the maximum number of single-particle states to be stored

double rx[IDXRD]; // radial grid points (fm)

double drdx[IDXRD]; // derivarive of scale transformation function

// "s" stands for "stored in memory"
int ispx;
double Es[NSP]; // energy (MeV)
double Fs[NSP][IDXR]; // large component of the radial wavefunction
double Gs[NSP][IDXR]; // small component of the radial wavefunction
// r = idxr*dr : idxr = 0..IDXR-1

double Vs[IDXT] [IDXRD]; // scalar potential (MeV)
Vs[i] = Vs(r=drx*i/2)
double Vv[IDXT] [IDXRD]; // vector potential (MeV)
Vv[i] = Vv(r=drx*i/2)
double Dens[IDXT] [IDXRD]; // Dens[0] [idxrd] :electromn |F|~2+|G|"~2

// r = idxrd*dr/2 : idxrd = 0..2+IDXR-2
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double phi [IDXT] [IDXRD]; // electric potential of ELECTRONS [MeV/el
double source[IDXT] [IDXRD]; // source term of electric fields

double Vcn[IDXRD]; // Coulomb potential created
by the atomic nucleus {MeV]

// physical constants
const double HbC = 197.326960; // h-bar c [MeV fm~2]
const double fineStructureConstant = 1.0/137.03599976;
// fine structure constant
const double Ebig 9.99e+30;
const double Ebigg = 9.999e+30;

// global variables

int Anum; // atomic number

int Mnum; // mass number

double Rnucl; // nuclear radius (fm)

int idxtGlobal;

int Ne[IDXT]; // the number of electrons

double Mass[IDXT] = {0.510998902}; // electron mass (MeV/c"2)

double Coupling[IDXT]; // Coupling constant, to be defined in setParameters

double Rin; // (fm) The radius of connection to the Taylor series around r=0.
double Rout; // (fm) The radius of the connection to an asymptotic solution for large r.
double Rmatch; // (fm) The radius where the forward and backward solutions meet.

double RadialGridSpacing; // (fm) Copy to a local variable "dr" and use "dr".

struct RadialGridIndex {
int i ; // inside point, where outward solution starts
int m ; // matching point, where inward and outward solutions meet
int o ; // outside point, where the inward solution starts

} Idxr; // NB) IDXR is macro, Idxr is structure, idxr is int

typedef struct{

double e ; // energy {MeV)

int t ; // idxt

int p ; // idxp

int j ; // idxj

int n ; // idxn

int o ; // occupation number
} orbital;

orbital orb[NSP];

// prototype declarations of functions

int setParameters();

int writeParameters(FILE *F0);

int labelOrbitals(int idxt);

int printOrbitals(int idxt);

int progl();

int prog2(int idxt, orbital *orb, double *sumspe);

int writeWavefunction(FILE *FO, int idxp, int idxj, int idxn, int occu,double *Fs, double *Gs);
// int swap : defined before function sort, only by which it is called.
int sort(orbital *orb);

int NuclearCoulombPotential();

int initialPotential(int sw);

int idx2qn(int sw,int idxp,int idxj, double *J,int *w,int *L,int *kappa);
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int setRadialGrid(int sw);

int solveDirac(int idxp,int idxj,int idxn, double mass, double *Esa, double *Fsa, double *Gsa);

// int rungeBCi : defined before function runge, only by which it is called.

// int rungeBCo : defined before function runge, only by which it is called.

int runge(int sw, double E, int idxp, int idxj, int idxn, double mass, int #*node, double*maco
,double *Fsa, double *Gsa);

int PoissonRef (int imax,double h,double *rx,double *drdx,double *source,double *phi);

int Poisson(int imax,double dx,double *rx,double *drdx,double *source,double *phi);

int interpolate(double *y, int n);

//

int main(){

setParameters();
writeParameters(stdout);
labelOrbitals (ELECTRON) ;
setConfiguration();

progli(Q);

/7

int setParameters(){

int idxt;
for (idxt=0;idxt<IDXT;idxt++){
Coupling[idxt]=sqrt (4*M_PI*HbC*fineStructureConstant);

//
int writeParameters(FILE *F0)
{ // writes the physical parameters of the model to a stream
fprintf (FO, "hbar*c=%12.6f (MeV*fm)\n",HbC);
fprintf (FO,"electron mass=%.9e (MeV/c~2)\n",Mass[ELECTRON]);
fprintf (FO,"fine structure constant=1/%.9f\n",1.0/fineStructureConstant);
fprintf (FO,"Coulomb Coupling Constant=Y%.6e\n",Coupling[ELECTRON]) ;

//
int labelOrbitals(idxt){
int idxp,idxj,idxn;
char *oam = "spdfghijklmn";
int n,1,j,js,isp,degen,ntot;

const int debug=0;

ntot=0;
isp=0;
for(n=1;n<8;n++){ // principal quantum number
for(1=0;1<n;1++){ // orbital angular momentum
js=1-1; if(js<0) js=0;
for(idxj=js;idxj<=1;idxj++){ // angular momentum -1/2
idxn=n-1-1; // the number of radial nodes
idxp=1-idxj;
degen=2*xidxj+2;
ntot+=degen;
if (debug) printf("(%2d) %d%c %2d/2 (t,p,j,m)=(%d %d %d %d) %2d %2d\n"
,isp,n,oam[1],2*idxj+1,idxt,idxp,idxj,idxn,degen,ntot);
if (isp>NSP){
fprintf (stderr,"labelOrbitals: error: isp>NSP %d %d\n",isp,NSP);
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exit(1);
}
orb[isp]l.e=0.0;
orb[isp].t=idxt;
orb[isp] .p=idxp;
orb[isp].j=idxj;

orb[isp] .n=idxn;

orb[isp].o=0;
isp++;
}
}
}
ispx=isp;
}
//

int printOrbitals(int idxt){
int ntot,isp,1l,n,degen,occu;
char *oam = "spdfghijklmn"; // letters for orbital angular momentum

orbital *ob;

ntot=0;
for(isp=0;isp<ispx;isp++){
ob=&orb[isp];
if (ob->t != idxt) continue;
occu=ob->o0;
1=ob->p+ob->j;
n=1+1+ob->n;
degen=2%ob->j+2;
ntot+=occu;
printf("%2d %.12e  %2d %c %2d/2 Yd %d %d %d %d :SPL\n"
,isp,ob->e-Mass[idxt], n, oam[1l], 2*ob->j+1, ob->t, ob->p, ob->j, ob->n, occu);
if (occu<0 || occu>degen) printf(" error in occupation number\n");

if (occu>0 && ob->e >= Ebig) printf("error: undoube orbital is occupied\n");

}
printf("# total number of particles(t=%d)=/d\n",idxt,ntot);

//

int setConfiguration(){
int idxt=ELECTRON,idxp,idxj,idxn,isp,n,1l,degen,occu,nerr,ntot;

char *oam = "spdfghijklmn"; // letters to represent orbital angular momenta

Anum=8; // atomic number

Mnum=16; // Anum*2; // mass number

Ne [idxt]=Anum;// Anum-1

Rnucl=1.2*pow((double) Mnum, 1.0/3.0); // nuclear radius (fm)
printf ("# Z=)d A=)d Ne=/d Rnucl=}.6e\n",Anum,Mnum,Ne[idxt],Rnucl);

// Ne=8 system

orb[ 0].0=2; // 1s 1/2 (p,j,n)=(0 0 0) 2=degeneracy
orb[ 1].0=2; // 2s 1/2 (p,j,n)=(0 0 1) 2
orb[ 2].0=2; // 2p 1/2 (p,j,n)=(1 0 0) 2
orb[ 3].0=2; // 2p 3/2 (p,j,n)=(0 1 0) 4
orb[ 4].0=0; // 3s 1/2 (p,j,n)=(0 0 2) 2
orb[ 5].0=0; // 3p 1/2 (p,j,n)=(1 0 1) 2
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orb[ 6].0=0; // 3p 3/2 (p,j,n)=(0
orb[ 7].0=0; // 3d 3/2 (p,j,n)=(1
orb[ 8].0=0; // 3d 5/2 (p,j,n)=(0
orb[ 9].0=0; // 4s 1/2 (p,j,n)=(0
orb[10].0=0; // 4p 1/2 (p,j,n)=(1
orb[11].0=0; // 4p 3/2 (p,j,n)=(0
orb[12].0=0; // 4d 3/2 (p,j,n)=(1
orb[13].0=0; // 4d 5/2 (p,j,n)=(0
orb[14].0=0; // 4f 5/2 (p,j,n)=(1
orb[15].0=0; // 4f 7/2 (p,j,n)=(0
orb[16].0=0; // bs 1/2 (p,j,n)=(0
orb[17].0=0; // 5p 1/2 (p,j,n)=(1
orb[18].0=0; // 5p 3/2 (p,j,n)=(0
orb[19].0=0; // 5d 3/2 (p,j,n)=(1
orb[20].0=0; // 5d 5/2 (p,j,n)=(0
orb[21].0=0; 5f 5/2 (p,j,n)=(1
orb[22] .0=0; // 5f 7/2 (p,j,n)=(0
orb[23].0=0; // 5g 7/2 (p,j,n)=(1
orb[24] .0=0; // 5g 9/2 (p,j,n)=(0
orb[25].0=0; // 6s 1/2 (p,j,n)=(0
orb[26].0=0; é6p 1/2 (p,j,n)=(1
orb[27].0=0; // 6p 3/2 (p,j,n)=(0
orb[28].0=0; // 6d 3/2 (p,j,n)=(1
orb[29] .0=0; 6d 5/2 (p,j,n)=(0
orb[30].0=0; // 6f 5/2 (p,j,n)=(1
orb[31].0=0; 6f 7/2 (p,j,n)=(0
orb[32].0=0; // 6g T7/2 (p,j,n)=(1
orb[33].0=0; // 6g 9/2 (p,j,n)=(0
orb[34].0=0; 6h 9/2 (p,j,n)=(1
orb[35].0=0; // 6h 11/2 (p,j,n)=(0
orb[36].0=0; 7s 1/2 (p,j,n)=(0
orb[37].0=0; // 7p 1/2 (p,j,n)=(1
orb[38].0=0; // 7p 3/2 (p,j,n)=(0
orb[39].0=0; // 7d 3/2 (p,j,n)=(1
orb[40] .0=0; // 7d 5/2 (p,j,n)=(0
orb[41].0=0; // 7f 5/2 (p,j,n)=(1
orb[42].0=0; // 7f 7/2 (p,j,n)=(0
orb[43].0=0; // 7g 7/2 (p,j,n)=(1
orb[44] .0=0; // 7g 9/2 (p,j,n)=(0
orb[45].0=0; // 7h 9/2 (p,j,n)=(1
orb[46].0=0; // 7h 11/2 (p,j,n)=(0
orb[47].0=0; // 7i 11/2 (p,j,n)=(1
orb[48].0=0; // 7i 13/2 (p,j,n)=(0
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degen=2%idxj+2;

ntot+=occu;

printf (" (%2d) %dl%c %2d/2 (t,p,j,n)=(%4d %4 %d %d) %2d %2d\n"
,isp,n,oam[1],2*idxj+1,orb[isp].t,idxp,idxj,idxn,degen,occu);

if (degen<occu) {fprintf(stderr,"error : degen < occu\n"); nerr++;}

}

printf("the number of electrons = %2d\n",ntot);

if(ntot != Nel[idxt]) {fprintf(stderr,"error : ntot != Ne\n");nerr++;}
if (nerr>0) exit(1);

//
int progl(){
/*

Calculation of levels and densities fulfilling selfconsistency condition

*/

int i,idxt,idxp,idxj,idxn,idxr,idxrd,degeneracy,num,iter,isp;

int imax=IDXP*IDXJ*NODE;

int itermax=300;

double E,sumspe[IDXT],edirect,eexch,etot; // Energy [MeV], sum of single-particle energy
double r,dr,drb,s; // radial coordinate (fm) and its grid spacing (drb=drb/2)

int mprint;

double diffVs[IDXT],diffVv[IDXT]; // maximum (for r) of the discrepancy in potentials
double diff;

double strVexch;

FILE *FFD, *FBD, *FPQ, *FWF, *FHI;

double p, damp=0.25; // damping factor and its initial value

const int debug=0;

FFD=fopen("fdens.dat","w"); // Fermion (=lepton) densities
FBD=fopen("bdens.dat","w"); // Boson densities
FPO=fopen("pot.dat","w"); // Potential energies
FWF=fopen("wf.dat","w"); // Nucleon wavefunctions

FHI=fopen("hist.dat","w"); // Convergence history
idxt=ELECTRON;

strVexch = -fineStructureConstant*HbC*pow(3/M_PI,1.0/3.0);
printf ("# strength paremeter of the exchange potential =%.8e\n",strVexch);

setRadialGrid(1);
NuclearCoulombPotential() ;

initialPotential(1);

dr=RadialGridSpacing;
drb=dr/2;
if (debug) fprintf(FPO,"# iter %d (initial potential)\n",0);

mprint=IDXRD/1000;
if (mprint<1) mprint=1;

if (debug) {

for(i=0;i<IDXRD;i+=mprint){
fprintf (FP0,"%.8e %.7e %.7e %.7e %.7e\n",rx[i],Vv[idxt] [i],Ven[i],0.0,0.0);
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fprintf (FPO,"\n");

fprintf (FHI,"# iter Nerr etot sumspe edirect eexch damp potdiffl\n");

for(iter=1;iter<=itermax; iter++){ // loop for selfconsistency : begin

fprintf (FHI,"/d ",iter);

for (idxt=0;idxt<IDXT;idxt++){
prog2(idxt,orb,&sumspe [idxt]) ;
if (debug) printf ("iter=)d prog2 finished. sumspe(t=Yd)=%e\n",iter,idxt,sumspe[idxt]);

printf ("# J=idxj+0.5, L=idxj+idxp, varpi=2*idxp-1, kappa=varpix*(J+0.5)\n");
for(isp=0;isp<ispx;isp++){
if (orb[ispl.o > 0 && orb[ispl.e < Ebig){
idxt=orbl[isp].t;
printf(" (%2d) (t,p,j,n,0)=%d %d %d %d %d E-m=}.12e\n"
,isp, idxt, orb[ispl.p, orblispl.j, orb[isp]l.n, orblisp]l.o
,orb[isp].e-Mass[idxt]);
}// end if
}// end for(isp)

if (debug) {

idxt=ELECTRON;

for(idxrd=0;idxrd<IDXRD;idxrd+=mprint) fprintf (FFD,"%.8e %.7e\n",rx[idxrd],Dens[idxt] [idxrd]);
fprintf (FFD,"\n") ;

} // end if

// total number of particles

idxt=ELECTRON;
s=0;
for(i=1;i<IDXRD;i++){
r=rx[il;
s+=r*r*Dens [idxt] [i]*drdx[i];
}
s*x=4%M_PI*drb;
printf ("# total number of particles(t=)d)=%.12e error=},.5e\n",idxt,s,s-Nelidxt]);

fprintf (FHI," %.5e ",s-Nelidxtl);

// boson field

idxt=ELECTRON;
for(i=0;i<IDXRD;i++) sourcel[idxt] [i] = Dens[idxt] [i]*Coupling[idxt];

// PoissonRef (IDXRD,drb,rx,drdx,source[idxt],phi[idxt]);
Poisson(IDXRD,drb,rx,drdx,source[idxt],phi[idxt]);
if (debug) {

for(i=0;i<IDXRD;i+=mprint) fprintf(FBD,"%.8e %.7e\n",rx[i],phil[idxt][i]);

fprintf (FBD,"\n");
}// end if
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// total energy

idxt=ELECTRON;

edirect=0;

eexch=0;

for(i=1;i<IDXRD;i++){
r=rx[i];
edirect+=r*r*phi[idxt] [i]*source [idxt] [i]*drdx[i];
eexch+=r*r*pow(Dens [idxt] [1],4.0/3.0);

}

edirect*=4*M_PI*drb/2;

eexch*=4*M_PI*drb*strVexch*3.0/4.0;

etot=sumspe [idxt]-edirect-eexch/3;

printf ("# total energy(MeV)=Y.12e SumSPE=).12e ED=),.9e EX=}.9e\n"

,etot,sumspe[idxt] ,edirect,eexch);

fprintf (FHI,"%.9¢e %.9e %.9e %.9e ",etot,sumspelidxt],edirect,eexch);

// new potential for the next iteration

p=damp;
if (iter > 30) p*=pow(0.98,iter-30);
fprintf (FHI,"%.9¢ ",p);

idxt=ELECTRON; diffVs[idxt]=0; diffVv[idxt]=0;
if (debug) fprintf(FPO,"# iter %d\n",iter);
for (i=0; i<IDXRD;i++){

double Vcoul, Vexch, Vsnew[IDXT], Vvnew[IDXT];

Vcoul = Coupling[idxt]*phil[idxt][i];
Vexch = strVexch*pow(Dens[idxt][i],1.0/3.0);

Vsnew[idxt]=0;
Vvnew [idxt]=Vcoul+Vexch+Vcn[i];
if (debug){
if(i % mprint == 0) fprintf(FP0,"%.8e %.7e %.7e %.7e %.7e\n",rx[i],Vvnew[idxt],Ven[i],Vcoul,Vexch);
}
diff=fabs(Vvnew[idxt]-Vv[idxt] [i]); if (diffVv[idxt]<diff) diffVv[idxt]=diff;
Vv[idxt] [i]=(1-p)*Vv [idxt] [i]+p*Vvnew [idxt];
}
if (debug) fprintf(FPO,"\n");

diff = diffVv[idxt] ;

printf ("# max potential inconsistency (MeV) %.5e iter=Yd\n",diff,iter);

fprintf (FHI,"%.5e\n",diff);

if (diff<1.0e-12) { // =1.0e-6 eV
printf ("# selfconsistency fulfilled: potential difference<).5e iter=)d\n",diff,iter);
break;

} // for(iter): loop for selfconsistency : end

idxt=ELECTRON;
for(i=0;i<IDXRD;i+=mprint){double Vcoul, Vexch;
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Vcoul = Coupling[idxt]*phil[idxt][i];

Vexch = strVexch*pow(Dens[idxt][i],1.0/3.0);

fprintf (FFD,"%.8e %.7e\n",rx[i],Dens[idxt] [i]);

fprintf (FBD,"%.8e %.7e\n",rx[i],phi[idxt] [il);

fprintf (FPO,"%.8e %.7e %.7e %.7e %.7e\n",rx[i],Vv[idxt] [i],Ven[i],Vcoul,Vexch);

// calculation of unoccupied orbitals

for (isp=0;isp<ispx;isp++){int occu;
occu=orb[isp].o;
if (occu <= 0){
idxp=orblisp] .p;
idxj=orblisp]l.j;
idxn=orb[isp] .n;
idxtGlobal=orb[isp].t;
solveDirac(idxp, idxj, idxn, Mass[idxt], &orbl[ispl.e, Fs[isp], Gsl[ispl);
} // end if
if (orb[isp].e < Ebig)
writeWavefunction(FWF, orb[isp].p, orb[isp].j, orb[isp].n, occu, Fslispl, Gs[ispl);
} // end for(isp)

// sort and print information on the single-particle levels

sort (orb) ;
printOrbitals (ELECTRON) ;

fclose(FFD); fclose(FBD); fclose(FP0); fclose(FWF); fclose(FHI);

return 0;

// ---- calculation of single-particle eigensstates
int prog2(int idxt, orbital *orb, double *sumspe){

int idxp, idxj, idxn, occu, noccu, isp, idxr, idxrd;

double r;

const int debug=1;

idxtGlobal=idxt;

for(idxrd=0;idxrd<IDXRD;idxrd++) Dens[idxt] [idxrd]=0.0;

*sumspe=0; // sum of single-particle energies

// calculation of the energies and wavefunctions of the eigenstates

// for orbitals which are spedified to be occupied

noccu=0;
for(isp=0;isp<ispx;isp++){
if (orb[isp]l.t == idxt && orb[ispl.o > 0){
idxp=orb[isp].p;
idxj=orblispl.j;
idxn=orb[isp] .n;
occu=orb[isp].o;
solveDirac(idxp, idxj, idxn, Mass[idxt], &orbl[ispl.e, Fs[ispl, Gsl[ispl);
if (orb[isp].e>=Ebig){
fprintf (stderr,"solution unbound for (t,p,j,n)=%d %d %d %d\n",idxt,idxp,idxj,idxn);

continue;
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noccu+=occu;

*sumspe+=occu*xorb[isp] .e;

for (idxr=1;idxr<IDXR;idxr++){ double Ft,Gt;
idxrd=2*idxr;
r=rx[idxrd];
Ft=Fs[isp] [idxr];
Gt=Gs [isp] [idxr];
Dens [idxt] [idxrd] +=(Ft*Ft+Gt*Gt) *occu/ (4.0*xM_PI*r*r) ;

}

} // end if
} // end for(isp)

*sumspe-=noccu*Mass [idxt] ;

// calculation of the densities

double £f6 4.0/3.0;

double f7 = -1.0/3.0;

Dens[idxt] [0]=f6*Dens[idxt] [2]+f7*Dens [idxt] [4];
interpolate(Dens [idxt] , IDXRD) ;

// fprintf(stderr,"Dens(r=0)=%e\n",Dens[idxt] [0]);

//
int writeWavefunction(FILE *FO, int idxp, int idxj, int idxn, int occu
,double *Fs, double *Gs)
{ // writes the wavefunction to a stream
int i,ii;

double r1, F, G;

F=0;G=0;
for(i=0;i<IDXR;i++){
if (F<fabs(Fs[i]))F=fabs(Fs[il);
if (G<fabs(Gs[i]))G=fabs(Gs[i]);
}
fprintf (FO,"# (idxp,idxj,idxn,occu)=(%d %d %d %d)\n",idxp,idxj,idxn,occu);
fprintf (FO,"# r(fm),F/%.12e,G/%.12e\n",F,G);
F=1.0/F; G=1.0/G;
ii=(IDXR-1)/100000;
if (ii<1) ii=1;
for(i=0;i<IDXR;i+=1ii){
fprintf (F0,"%.8e %.8e %.8e\n",rx[i*2] ,Fs[i]*F,Gs[i]*G);
}
fprintf (FO,"\n");

//
int swap(orbital *orb, int i, int j){ // called only by function "sort"

orbital tmp;

tmp = orb[i];
orb[i] = orb[jl;
orb[j] = tmp;
}
[/= = = = = = = s s s s s s m - ——m— - - - - - - - - - —— - - - - - -

int sort(orbital *orb){

int isp,isp2;

39



for(isp=0;isp<ispx-1;isp++){
for(isp2=isp+1;isp2<ispx;isp2++){
if (orb[isp]l .t == orb[isp2].t && orbl[ispl.e > orbl[isp2].e){
swap(orb, isp, isp2);
}

//

int NuclearCoulombPotential() {
// (MeV)
int i;
double r,t,VcO;
// external variables : RadialGridSpacing, Rnucl, Anum, fineStructureConstant, HbC
VcO=-Anum*fineStructureConstant*HbC;
for (i=0;i<IDXRD;i++){
r=rx[i];
if (r<=Rnucl){
t=(1/Rnucl) *r;
Ven[i]l=(0.5%VcO0/Rnucl) *(3-t*t) ;
}
else {
Ven[i]=VcO/r;

return O;

//

int initialPotential(int sw) {
// Oth compoment of vector potential (MeV) and scalar potential (MeV)
int i,idxt;
for(idxt=0;idxt<IDXT;idxt++){
for(i=0;i<2*IDXR-1;i++){
Vs [idxt] [1]=0;
Vv[idxt] [i]=Ven[i];

}

return 0O;

//

// A set of functions to solve the Dirac eigenvalue equation with spherically symmetric
// vector and scalar potentials which are regular at radius zero.

//  * idx2qn

//  * setRadialGrid

//  * solveDirac

//  * rungeBCi

//  * rungeBCo

//  * (rungeFunl and rungeFun2 :commented out)

//  * runge

//

int idx2qn(int sw,int idxp,int idxj, double *J,int *w,int *L,int *kappa){
// converts the indices into quantum numbers

*J=1dxj+0.5; // J = angular momentum
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if(idxp == 0){*w=-1;} else {*w=1;} // w = quantum number "varpi"
*L=idxj+(1+ *w)/2; // L=J+varpi/2 : orbital angular momentum
*kappa=+w *(idxj+1); // kappa = varpi*(J+1/2)
if(sw > 0){
fprintf (stderr,"quantum numbers: J=%3d/2 varpi=/d L=/d kappa=/d\n"
, (int) (2% (*J)) , *w,*L,*xkappa) ;
return 0;

}

double sfdrv(double x){
// return 1; // (0)
return 1/sqrt(1 + x*x); // (1)

double sffor(double x){
// return x; // (0)
return log(x+ sqrt(l + x*x)); // (1)

double sfbac(double x){
double t;
// return x; // (0)
t=exp(x); return (t-1/t)*0.5; // (1)

//
int setRadialGrid(int sw)
{ // sets up the parameters of the radial grid to express the radial wavefunctions
double dr, Rs,Rsinv;
double x,xn,xout,dx,dxhf,rxn;
int i;

FILE *FGR;

// used global variables : Rnucl

if (0){
for(i=0;i<30;i++){double x1,x1b,x2,r1,r2,t,tb;
x1=i*0.1; ri=sfbac(x1); xlb=sffor(ril);

x2=(i+1e-7)*0.1; r2=sfbac(x2);

t=sfdrv((ri+r2)/2);

tb=(x2-x1)/(r2-r1);

printf ("%e %e %e %he he %e %e\n",rl,x1,x1b,xlb-x1,t,tb,tb-t);

Idxr.o=IDXR-1; // For radial grid number >= Idxr.o, rungeBCo is used.
Rout=30.0e+5; // (fm) corresponding to Idxr.o

Rs=0.25; // the grid spacing begins to increase geometrically fore r>Rs

Rsinv=1/Rs;

xout=Rs*sffor (Rout*Rsinv) ;
dx=xout/(IDXR-1) ;
dxhf=dx*0.5;

Idxr.i=Rs*sffor (2*Rs*Rsinv)/dx+0.5; // inner side connection at r=Rs*2=0.5fm
if (Idxr.i<5) Idxr.i=5;
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rx[0]=0;

drdx[0]=1;

for(i=1;i<2*IDXR-1;i++){
xn=(dxhf*Rsinv)*i;
rxn=sfbac(xn) ;
rx[i]=Rs*rxn;

drdx[i]=1/sfdrv(rxn);

dr=dx;
RadialGridSpacing=dr;

Rin=rx[Idxr.i];

// Idxr.m=0.5e+5/dr+0.5;

// if(Idxr.m < Idxr.i) Idxr.m = Idxr.i;
// if(Idxr.m > Idxr.o) Idxr.m = Idxr.o;
// Rmatch=Idxr.m*dr;

FGR=fopen("grid.dat","w");
for(i=0;i<2*IDXR-1;i++){
fprintf (FGR,"%.5e %.5e %.5e\n",rx[i],i*dx,drdx[i]);
}
fclose(FGR);

if (sw>0){
printf (" R(in,out)=%.5e %.5e (fm)\n",Rin,Rout);
printf ("idxr(in,out)=%9d %9d d(xi)=%.5e (fm)\n",Idxr.i,Idxr.o,dr);
printf (" r[2]-r[0]=%.5e r[2+*IDXR-2]-r[2*IDXR-4]=%.5e (fm)\n"
,rx[2]-rx[0] ,rx[2*IDXR-2] -rx[2*IDXR-4]);

if(1 > Idxr.i || Idxr.i > Idxr.o || Idxr.o >= IDXR || Rout <= 0.0){
fprintf (stderr,"setRadialGrid: error: Idxr.i,Idxr.o,IDXR,Rout %d %d %d %f\n"
,Idxr.i,Idxr.o,IDXR,Rout);
exit(1);

//

int solveDirac(int idxp,int idxj,int idxn, double mass, double *Esa, double *Fsa, double *Gsa)

{ // calculates the energy and the wavefunction of the eigenstate
int i,idxt,node;
double maco,macol,maco2; // matching condition is "maco=0"
double E,E0,E1,E2,dE, Eprec=1.0e-14; // energy (MeV)
idxt = idxtGlobal;

const int debug=0;

EO=mass-mass*Eprec;

runge (0,E0, idxp,idxj,idxn,mass,&node,&maco,Fsa,Gsa) ;
if (debug) fprintf(stderr,"solveDirac: first call to runge done.\n"); // #1#
if (node < idxn || node == idxn && maco < 0){

fprintf (stderr,"no bound states: For E=mass, node=Jd maco=%e\n",node,maco);
E=Ebigg;
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goto fin;

if (debug) fprintf(stderr,"For E-M=-0 eV, node=%d maco=Ye\n",node,maco);

dE=15.0e-6; E1=EO0-dE;
for(;;){

runge(0,E1,idxp,idxj,idxn,mass,&node,&maco,Fsa,Gsa) ;

if (debug) printf("solveDirac: #2# El=le dE=Je node=Jd maco=Ye\n"
,El-mass,dE,node,maco); // #2#

if(node < idxn || node == idxn && maco < 0) break;
E1=E1-dE; dE*x=1.25;
}
if (debug) fprintf(stderr,"lower bound (E,node,maco)=(%e %d %e)\n",E1l,node,maco);

E2=E1%0.8+E0*0.2;
for(;;){
runge(0,E2,idxp,idxj,idxn,mass,&node,&maco,Fsa,Gsa) ;
if(node > idxn || node == idxn && maco > 0) break;
E2=E2x%0.8+E0*0.2;
if (E2>E0) { // Actually,this condition was alread checked.
fprintf (stderr,"no bound states(2): For E=mass, node=Jd maco=Je\n",node,maco);
E=Ebigg;

goto fin;

}
if (debug) fprintf (stderr,"upper bound (E,node,maco)=(%e %d %e)\n",E2,node,maco);

// bisection method

for(i=0;i<60;i++){
if (E2-E1<=mass*Eprec) break;
E=(E1+E2)*0.5;
runge(0,E,idxp,idxj,idxn,mass,&node,&maco,Fsa,Gsa);
if (debug) fprintf(stderr,"%12f %5d %15.12f %12f %12f\n",E,node,maco,E1,E2);
if(node < idxn || node == idxn && maco < 0){E1=E;} else {E2=E;}
}
E=(E1+E2)*0.5;

runge(1,E,idxp,idxj,idxn,mass,&node,&maco,Fsa,Gsa);

*Esa=E;

if (debug) fprintf (stderr,"iter=}d E=)f\n",i,*Esa);

fin:

*Esa=E;

return O;

//

int rungeBCi(double r, double E, double mass, int idxp, int L, double *F, double *G){
// Boundary Condition for r -> 0O
double vv,vs,epsilon,mu,rL,rL1,rL2,rL3;

int idxt;
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idxt=idxtGlobal; // A global variable is copied to a local variable.

if(r <= 0.0){
*F=0; *G=0;
if(r == 0) return 0; else return 1;
}
vv=Vv[idxt] [0]; vs=Vs[idxt][0];
epsilon=(E-vv)/HbC;
mu=(mass+vs) /HbC;
{//input : int L, double r, output : double rL=pow(r,L)
int pt=L; double xt=r, rt=1.0;
while(pt !'= 0){if(pt & 1) rt*=xt; xt*=xt; pt>>=1;} rl=rt;
}
rLi=rL*r; rL2=rLi*r; rL3=rL2x*r;
*F=rL1-(epsilon*epsilon-mu*mu)/ (4*L+6)*rL3;
if(idxp == 0){ // varpi=-1, L=J-1/2=0,1,2,...
*G=-(epsilon-mu) / (2+L+3) *rL2;
}
else { // varpi=1, L=J+1/2=1,2,3,...
*G=(2%L+1) / (epsilon+mu) *rL-(epsilon-mu) / (2+L+3) *rL2;
}

return O;

//
int rungeBCo(double r, double E, double mass, double *F, double *G){
// Boundary Condition for r -> infinity

*F=exp (-r*sqrt (mass*mass-E*E) /HbC) ;

*G=-sqrt ((mass-E) / (mass+E) ) *exp (-r*sqrt (mass*mass-E*E) /HbC) ;

return 0;

//
#define RUNGE_OPTION 1

#if RUNGE_OPTION ==
/] - == ===-=-=-=-=-=-=--- function version - - - - - - - - - - - - - -
inline double rungeFuni(double rinv,double F,double G,double E,int kappa,double V,double mass,int i){
return ((E-V+mass)*Gx*(1.0/HbC)-kappa*F*rinv)*drdx[i];
}
inline double rungeFun2(double rinv,double F,double G,double E,int kappa,double V,double mass,int i){
return (-(E-V-mass)*F*(1.0/HbC)+kappa*G*rinv)*drdx[i];

}
#elif RUNGE_OPTION == 2 // do not use
/- - - macro version - - - - - - - - - - - - - - -

#define rungeFunl(rinv, F, G, E, kappa, V)\
((-(kappa) ) * (rinv) * (F)+(1.0/HbC) * ((E) - (V) +mass) *(G))
#define rungeFun2(rinv, F, G, E, kappa, V)\
((1.0/HbC) * (- ((E) - (V) -mass) ) * (F) +(kappa) * (rinv) *(G) )
#elif RUNGE_OPTION == 3 // do not use
// - =-=-=-=-=-=-=-=-=------ inline version - - - - - - - - - - - - - - -
// Inline version uses neither functions nor macros.
#endif

int runge(int sw, double E, int idxp, int idxj, int idxn, double mass

,int *node, double*maco, double *Fsa, double *Gsa){
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// Runge-Kutta method for radial wave fn.
// sw & 0x01 > 0 --> the wavefunciton iwws stored in the global arrays

// sw & 0x02 > 0 --> fprintf(stderr) some information

/%

used global variables
idxtGlobal, RadialGridSpacing
used functions

rungeBCi, rungeBCo, idx2qn

*/

int i,is,1i,i2,i3;

int w,L,kappa;

int forbac; // O for forward solution, 1 for backward solution
int idxt;

double ril,rlinv;

double k1,11,k2,12,k3,13,k4,14,k,1;

double F,F2,F3,F4,0ldF, G,G2,G3,G4;

double dr, pmdr, halfpmdr; // pmdr = plus or minus dr
double J, vv, vs;

double Fm[2], Gm[2];

double c1,c2,c3,c4,c5,c6,c7;

const double debug=0;

idxt=idxtGlobal;

idx2qn(0,idxp,idxj, &J,&w,&L,&kappa);

dr=RadialGridSpacing;

if(sw & 0x01){
for(i=0;i<=Idxr.i;i++){
ri=rx[ix*2];
rungeBCi(r1l,E,mass,idxp,L,&Fsali] ,&Gsa[il);
}
for (i=IDXR-1;i>=Idxr.o;i--){
ri=rx[i*2];

rungeBCo(r1l,E,mass,&Fsali] ,&Gsalil);

*node=0;

{double dE1,dEO=E-mass-Vv[idxt] [Idxr.i*2]; double S,fct;
for(i=Idxr.i*2+2;i<=Idxr.o*2;i+=2){
dE1=E-mass-Vv[idxt] [i];
if (dEO >0 && dE1 <O ||dEO <0 && dE1 >0 || dE1==0){
Idxr.m=i/2;
break;
}
dEO=dE1;
}
fct=sqrt (2*mass/ (HbC*HbC)) ;
fct=log(lel6)/fct;
S=0;
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Idxr.o=IDXR-1;
for(;i<=Idxr.o*2;i+=2){

}

if (Idxr.m <= Idxr.i) Idxr.m=Idxr.i+1;
if (Idxr.m >= Idxr.o) Idxr.m=Idxr.o-1;

}

dEl=mass+Vv[idxt] [i]-E;
if (dE1<0){
S=0;
}
elseq
S+=sqrt (dE1) *(rx[i]-rx[i-2]);
}
if (S>fct){
Idxr.o=i/2;

break;

if (debug) fprintf(stderr,"Idxr.(m,o0)=/d %d R.(m,o0)=Ve %e\n"

,Idxr.m,Idxr.o,rx[Idxr.m*2] ,rx[Idxr.o*2]);

for(forbac=0; forbac<2; forbac++){

#if
//

if (forbac == 0){

rungeBCi (rx[Idxr.i*2],E,mass,idxp,L,&F,&G) ;

pmdr=dr; is=Idxr.i; ii=1;
}
else {

rungeBCo (rx[Idxr.o*2] ,E,mass,&F,&G) ;

pmdr=-dr; is=Idxr.o; ii=-1;
}
halfpmdr=pmdr*0.5;

cl=pmdr*kappa; // used only i
c2=pmdr*(1.0/HbC); // used only i
c3=E+mass; // used only i
c4=E-mass; // used only i

i2=is*2; ri=rx[i2]; vs=Vs[idxt][i2]; vv=Vv[idxt][i2];

inline
inline
inline

inline

version
version
version

version

cb=clx*rlinv; // used only in inline version

for(i=is+ii ; ; i+=ii){

( RUNGE_OPTION == 1 ) || ( RUNGE_OPTION == 2 )

ki=rungeFuni(rlinv,F,G,E,kappa,vv-vs,mass,i2)*pmdr;

li=rungeFun2(rlinv,F,G,E,kappa,vv+vs,mass, i2) *pmdr;

i2=1i%2;
i3=i2-ii;
ri=rx[i3]; rlinv=1.0/r1;

vs=Vs[idxt] [13]; vv=Vv[idxt][i3];

F2=F+0.5%k1; G2=G+0.5%11;

function and macro versions

riinv=1.0/r1;

k2=rungeFunl(rlinv,F2,G2,E,, kappa,vv-vs,mass, i3)*pmdr;

12=rungeFun2(r1inv,F2,G2,E,kappa,vv+vs,mass,i3) xpmdr;

F3=F+0.5%k2; G3=G+0.5%12;

k3=rungeFuni(rlinv,F3,G3,E,kappa,vv-vs,mass,1i3)*pmdr;

13=rungeFun2(rlinv,F3,G3,E,kappa,vv+vs,mass,i3) *pmdr;

ri=rx[i2]; rilinv=1.0/r1;

vs=Vs[idxt] [i2]; vv=Vv[idxt][i2];
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FA=F+k3; G4=G+13;
k4=rungeFunl(rlinv,F4,G4,E,kappa,vv-vs,mass,i2)*pmdr;
l4=rungeFun2(rlinv,F4,G4,E,kappa,vv+vs,mass,i2) *pmdr;

#elif RUNGE_OPTION ==

// inline version
k1=c2*(c3-vv+vs) *G-c5*F;
11=c5*G-c2* (c4-vv-vs)*F;
ri=ri+halfpmdr; cb=cl/ri;
i3=i2-ii; vs=Vs[idxt] [i3]; vv=Vv[idxt][i3];
F2=F+0.5%kl; G2=G+0.5%11;

c6=c2*(c3-vv+vs) ;

c7=-c2*(c4-vv-vs) ;
k2=c6*G2-cb5*xF2;
12=c5*G2+c7*F2;

F3=F+0.5%k2; G3=G+0.5%12;
k3=c6*G3-c5*F3;
13=cb*G3+cT7*F3;

ri=dr*i; cb=cl/ri;

vs=Vs[idxt] [i2]; vv=Vv[idxt] [i2];

F4=F+k3; G4=G+13;
kd=c2* (c3-vv+vs) *G4-c5*F4;
14=c5*G4-c2* (c4-vv-vs) *F4;

#endif
k=(k1+2xk2+2*k3+k4)*(1.0/6.0) ;
1=(11+2%12+2%13+14)*(1.0/6.0) ;
oldF=F;

F=F+k;
G=G+1;
if (F*01dF<0) (*node)++;
if(sw & 0x01){
Fsal[i]=F;
Gsal[il=G;
}
if (i==Idxr.m) break;
}
Fm[forbac]=F; Gm[forbac]=G;

} // end of for(forbac)

*maco=Fm[0] *Fm[1] * (Fm[0] *Gm[1]-Gm [0] #*Fm[1]) ;

if (debug &% *maco == 0.0){
fprintf (stderr,"maco=0, %e %e %e %e\n",Fm[0],Gm[0],Fm[1],Gm[1]);

//fprintf (stderr,"%12f %5d %15e E,node,maco\n",E,*node,*maco);

[/ normalization of the wavefunction : begin ------------—--—-
if(sw & 0x01)
{ double s,s1,s2,t1,t2,mf,nfl1,nf2;

s1=0.0;
for(i=0;i<Idxr.m;i++){
i2=i%2;
ti=Fsalil;
t2=Gsalil;
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s1+=(t1*t1+t2*t2) *drdx[i2];
}
s2=0.0;
for(i=Idxr.m;i<IDXR;i++){
i2=i%2;
ti1=Fsalil;
t2=Gsalil;
s2+=(t1*t1+t2*%t2) *drdx [i2];
}
mf=Fm[0]/Fm[1]; // It is preferable to choose between Fin/Fout and Gin/Gout
// the one which suffers from less numeircal error.
s=dr* (s1+s2*mf*mf) ;
nfi1=1/sqrt(s); // sign of the tail for r-> infinity agrees with rungeBCo
if (mf<0.0) nfil*x=-1;
nf2=nf1*mf;
for(i=0;i<Idxr.m;i++){
Fsa[i]l*=nf1;
Gsal[i]*=nf1;
}
for(i=Idxr.m;i<IDXR;i++){
Fsal[i]*=nf2;
Gsal[il]*=nf2;

/)= normalization of the wavefunction : end

return O;

// block 2 : begin
// This is an independently available part.

//

// proper Poisson equation solver
//

// Poisson equation solver

int PoissonRef (int imax,double h,double *rx,double *drdx,double *source,double *phi){

double rO,r1;

double I1,I2;

double rhol;

int i,j,k,1,al;

double intcoef[6]={ 11.0/1440.0, -93.0/1440.0, 802.0/1440.0,

802.0/1440.0, -93.0/1440.0, 11.0/1440.0};
int debug=1;

if (debug==1) fprintf(stderr,"Poisson:begin\n");

//x=0
12=0;
for(j=0;j<imax-1;j++){
for (k=0;k<6;k++){
1=j+k-2;
if (1>=0) ri=rx[1]; else ri=-rx[-1];
al=abs(1);

if (al<imax) I2+=intcoef [k]*sourcel[al]*ri*drdx[al];
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}
phi[0]=h*I2;

//r>0
for(i=1;i<imax;i++){
rO=rx[i];
11=0;
for(j=0;j<i;j++){
for (k=0;k<6;k++){

1=§+k-2;
if (1>=0) ri=rx[1]; else ri=-rx[-1];
al=abs(1);
if (al<imax) Il+=intcoef [k]*sourcel[al]*ri*ri*drdx[al];
}
}
I1/=x0;
12=0;

for (k=0;k<6;k++){

for(j=i;j<imax-1;j++){

1=j+k-2;
if (1>=0) ri=rx[1]; else ri=-rx[-1];
al=abs(1);
if (al<imax) I2+=intcoef [k]*source[al]l*ri*drdx[al];
}
}
phi [i]=h*(T1+I2);
}
if (debug==1) fprintf(stderr,"Poisson:end\n");
return O;
}
// Poisson equation solver

int Poisson(int imax,double dx, double *rx, double *drdx, double *source,double *phi){
double ri;
double I1,I2,I1b,I2b;
double rhol;
int i,j,k,1,al;
double intcoef[6]={ 11.0/1440.0, -93.0/1440.0, 802.0/1440.0,
802.0/1440.0, -93.0/1440.0, 11.0/1440.0};
double bdrycoef [5];
int debug=0;

if (debug==1) fprintf(stderr,"Poisson(ver.3):begin\n");

bdrycoef [0]=intcoef [0] ;
for(i=1;i<5;i++) bdrycoef [i]=bdrycoef [i-1]+intcoef [i];

if (debug) {
for(i=0;i<5;i++) printf ("bdrycoef [}d]=%f/1440\n",i,bdrycoef [i]*1440);
if (fabs(bdrycoef [6]-1)<1.0e-13) fprintf(stderr,"error in integral coef %.15e\n",bdrycoef[5]);

i=0; phi[i]l=0;
for(i=1;i<6;i++){
11=0;
for(j=0;j<i;j++){
for (k=0;k<6;k++) {
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1=j+k-2;
if (1>=0) ri=rx[1]; else ri=-rx[-1];
al=abs(1l);

if (al<imax) Il+=intcoef [k]*sourcel[al]l*ri*ri*drdx[al];

}

phili]l=dx*I1/rx[i];
}
i=6;

I1b=bdrycoef [0]*rx[2] *rx[2] =*source[2]*drdx[2]
+bdrycoef [1]1*rx[1] *rx[1] #*source[1]*drdx[1]
+bdrycoef [2] *rx[0] *rx[0] #*source[0]*drdx[0]
+bdrycoef [3]*rx[1] *rx[1] #*source[1]*drdx[1]
+bdrycoef [4]*rx[2] *rx[2] #*source[2]*drdx[2]

+ rx[3] #*rx[3] =*sourcel[3]*drdx[3];

I1=I1b

+bdrycoef [4] *rx [1-2] *rx [i-2] *source [i-2] *drdx [i-2]
+bdrycoef [3]*rx[i-1]*rx[i-1]*source[i-1]*drdx[i-1]
+bdrycoef [2] *rx[i J*rx[i J*sourcel[i J*drdx[i 1];

if (i+1<imax) Il+=bdrycoef [1]*rx[i+1]*rx[i+1]*sourcel[i+1]*drdx[i+1];

if (i+2<imax) Il+=bdrycoef [0]*rx[i+2]*rx[i+2]*source[i+2]*drdx[i+2];

phi [i]=dx*I1/rx[il;

for(i=7;i<imax-2;i++){

I1lb+= rx[i-3]*rx[i-3]*source[i-3]*drdx[i-3];

I1=I1b
+bdrycoef [4] *rx [i-2]*rx[i-2]*source [i-2]*drdx [i-2]
+bdrycoef [3]*rx[i-1]*rx[i-1] *source[i-1]*drdx[i-1]
+bdrycoef [2]*rx[i J*rx[i J*source[i J]*drdx[i ]
+bdrycoef [1]*rx [i+1]*rx[i+1]*source [i+1]*drdx[i+1]
+bdrycoef [0] *rx [i+2] *rx [i+2] *source [i+2] *drdx [i+2] ;

phil[il=dx*I1/rx[il;

}

for(i=imax-2;i<imax;i++){
I1b+= rx[i-3]*rx[i-3]*source[i-3] *drdx[i-3];
I1=I1b

+bdrycoef [4] *rx [i-2]*rx[i-2]*source [i-2]*drdx [i-2]

+bdrycoef [3]*rx[i-1]1*rx[i-1]*source[i-1]*drdx[i-1]

+bdrycoef [2]*rx[i J*rx[i J*sourcel[i I*drdx[i 1;
if (i+1<imax) Il+=bdrycoef [1]*rx[i+1]*rx[i+1]*source[i+1]*drdx[i+1];
if (i+2<imax) Il+=bdrycoef [0]*rx[i+2]*rx[i+2]*source[i+2]*drdx[i+2];
phi[i]=dx*I1/rx[il;

for(i=imax-1;i>imax-7;i--){
12=0;
for (k=0;k<6;k++){
for(j=i;j<imax-1;j++){
1=§+k-2;
if(1>=0) ri=rx[1]; else ri=-rx[-1];
al=abs(1);

if (al<imax) I2+=intcoef [k]*sourcel[al]*ri*drdx[al];

}
phi[i]+=dx*I2;
}
i=imax-7;

I2b=bdrycoef [2] *rx [imax-1]*source [imax-1]*drdx [imax-1]

50



+bdrycoef [3]*rx [imax-2] *source [imax-2] *drdx [imax-2]

+bdrycoef [4] *rx [imax-3] *source [imax-3] *drdx [imax-3]

+ rx[imax-4] *source [imax-4] *drdx [imax-4] ;
I2=I2b

+bdrycoef [4] *rx [i+2] *source [1+2] *drdx [1+2]

+bdrycoef [3]*rx[i+1]*source [i+1]*drdx[i+1]

+bdrycoef [2]*rx[i J*source[i Jx*drdx[i 1;

j=i-1;
1£(j<0)
I2+=bdrycoef [1]* (-rx[-j]) *source[-j]l*drdx[-j];
else

I2+=bdrycoef [1] *rx[jl*source[j]l*drdx[j];

j=i-2;
if (j<0)
I2+=bdrycoef [0] * (-rx[-j])*source[-j]l*drdx[-j];
else

I2+=bdrycoef [0] *rx [jl*source[j]l*drdx[j];

for(i=imax-8;i>1;i--){
I2b+=rx[i+3]*source[i+3] *drdx[i+3];
I2=1I2b
+bdrycoef [4] *rx [i+2] *source [1+2] *drdx [i+2]
+bdrycoef [3]*rx[i+1]*source[i+1]*drdx [i+1]

+bdrycoef [2]*rx[i l*source[i I*drdx[i 1;

j=i-1;
if (j<0)
I2+=bdrycoef [1]*(-rx[-j]) *source [-j]l*drdx[-j];
else
I2+=bdrycoef [1]*rx[j]*source[jl*drdx[j];

j=i-2;
1£(j<0)
I2+=bdrycoef [0]*(-rx[-j])*source[-j]*drdx[-j];
else
I2+=bdrycoef [0] *rx[jl*source[j]l*drdx[j];
phi[i]+=dx*I2;

for(i=1;i>=0;i--){
I2b+=rx[i+3]*source[i+3] *drdx[i+3];
I2=I2b
+bdrycoef [4] *rx [i+2] *source [1+2] *drdx [i+2]
+bdrycoef [3] *rx [i+1]*source [i+1]*drdx [i+1]

+bdrycoef [2]*rx[i l*source[i I*drdx[i 1;

j=i-1;
if (j<0)
I2+=bdrycoef [1]*(-rx[-j]) *source [-j]*drdx[-j];
else
I2+=bdrycoef [1]*rx[j]*source[jl*drdx[j];

j=i-2;
I2+=bdrycoef [0] * (-rx[-j]) *source [-j]*drdx [-j];
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phi[i]+=dx*I2;
}

if (debug==1) fprintf(stderr,"Poisson(ver.3):end\n");

return O;

// block 2 : end

// block 3 : start
//  No global variables are referred.

//

int interpolate(double *y, int n){

/%
double y[n],
y[0l,y[2],y[4],...,y[n-5],y[n-3],y[n-1] : given.
y[11,y[3]1,y[56],...,y[n-6]1,y[n-4],y[n-2] : to be interpolated.
n must be an odd integer not less than 7.
y[-il=y[i] assumed.
y[i]l=0 assumed for i >= n.

*/
int i;
double fO= 3.0/256.
double f1=-25.0/256.
double f2= 75.0/128.
double £3= 75.0/128.
double f4=-25.0/256.
double f5= 3.0/256.

o O O O O o

if (n%2==0] In<7){
fprintf(stderr,"interpolate: argument n =%d : abort\n",n);

exit(1);

y[11 =fOoxy[4] +fixy[2] +£f2xy[0] +£3xy[2] +f4xy[4] +f5*xy[6] ;
y[3] =foxy[2] +fixy[0] +f2xy[2] +£3*y[4] +f4xy[6] +fbxy[8] ;

for(i=5;i<=n-6;i+=2){
y[i1=f0*y [i-5]+f1xy[i-3]+f2*y[i-1]1+£3*y [i+1]+f4*y[i+3]+f5xy[i+5];

// NB) density beyond the maximum radius is approximated with zero.
// A better treatment is to construct 5-pt and 4-pt formulae

// and use them for these points.

y[n-41=£0xy [n-9] +f1*y [n-7] +f2*y [n-5] +£3*y [n-3] +f4*y [n-1] ;
y [n-2]=£0*y [n-7]+f 1%y [n-5] +f2xy [n-3] +£3*y [n-1] ;

}
// block 3 : end
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